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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWQ SECTIONS and printed both in HINDI and in
ENGLISH,

Cendidate has to attempt FIVE questions in all.

Questions no. I and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE from each section.

The number of marks carried by a question/ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer {QCA) Booklet in the space provided. No
marks will be given for answers written in o medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Assumie suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off-
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Q1. fraffaa % s AR, S e e 150 wRdt A
Answer the following in about 150 words each: '+ A 10x5=50
(a)

(b)

(c)

(d)

{e).

Q2. (a)

ST FHRER 6w A # R i ) o 10
‘Accounting is a language of business.” Comment. ' :

W(ﬁﬁﬂ)ﬁtﬁﬁﬁ(@%ﬂ)%@w%mﬁwmﬂﬁ
e (SO0 o swfen) we=m ffw ) c o

Discuss Zero Base Budgeting as a took of* planning and controlling. 10

ma@ﬁ%wuﬁwmwm%wﬁmmﬁmﬁ

- o |

- ‘Write a short note on the provisions of Ind1an Accounting . Standards

regardmg Inventories. . 10
mﬁﬁaﬁé@ﬁ%%aﬁﬁwﬂaﬁrﬁm 2013%93@3@'%1

ww%‘?

What-are the iain prov1$10ns of Compames Act, 2013 with respect to
the audit related to D1v1dends ? . 10

frfim msﬁé’w%’?uﬁm amsﬂn‘a:‘ta%uﬁmaﬁrﬁm

What are the various ‘Heads of Income’ ? Explam briefly each head of
income. . 10

ﬁmﬁﬂ@%’ﬁ@%nﬁ%%\nﬁmﬁaﬁﬁmmmmm

gl - A |- = 50 TRt 27 1 2 8 9,000 FHIN
figedi - B 1. ?1009%3%%@&&6500365@1"
ﬁar—ﬁm c ?15”%@%@&%120003%@

m%ﬁﬁcrﬁa mﬁm%ﬁﬁﬁﬁa%mzﬁ
figeir - A ?559%33?!%@21@‘10,000%@” |
 Fach - B| 7 95 i 3o & & 7,000 T
Radl — C | = 156 W 7978 1 R 11,000 T |
Raew A, B 3t O 61 Wi 1 9N HEN: T 45, T 85 R T 130 4t |

gafea #i aredfes g (&) ) % @ AR F W FA H o Tl e
(AfedR) ot aiema Hifg |
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Modern Toys Ltd. had budgeted the following sales for the month of
June :

Toy— A | 9,000 units at T 50 per unit

Toy - B | 6,500 units at ¥ 100 per unit
Toy-C | 12,000 units at T 150 per unit

As against this, the actual sales were as under :
Toy - A | 10,000 units at T 55 per unit
Toy - B 7,000 units at ¥ 95 per unit
Toy -~ C 11_,(_)0() units at ¥ 156 per unit

The cost per unit of Toy A, Band C was T 45, T 85 a.nd T 130
réspectively. Compute the different variances to explam the dlﬂ'erence
between the budgeted and actual proﬁt ' 20

(b) mm%ﬁm%ﬁ@wﬁﬁnﬁ%ﬁwﬁmg
fohl s %% v @nama |

o« &l An| aﬁﬁnw S e
() vegEwhEi 0 329 0 —
(2) Seaw #m - 28% -
@). im0 12% 0 '1,89.900
@) fwmsm - 5% ;- 58,400
(5) YRR - 2% 66,700
anéaé%%qmﬁaﬁﬁ?msaooo%lmaﬁﬁmﬁﬁaamﬁﬂﬁw
FH H THE & - :

{) Ww(ﬁmﬁﬁq)ﬁﬁwﬁmml

(ii) Wﬁﬁﬁﬁwﬁmwmgqm(m)l

(iii) ﬂﬁmﬁmﬁaﬁaﬁaﬁﬁﬁmﬁmﬁémm,a}m
(Fmw) |

Gv) - u&mﬁaﬁﬁﬁmﬁaﬁaﬁﬁ5maﬁ@aﬂam,
| HATE (FTH) )
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An analysis of costs of Namya Polymer Lid. led to t}’fé:f'folluwing

information :

Cost of Element Z:{;al;}es(;;);; é? ;:: i |
(1) Direct Materials 32% —
(2) Direct Labour 28% —
(3) Factory Overheads 12% 1,89,900
(4) Distribution Expenses 5% 58,400
(5) Administration Expenses 2% 66,700

Budgeted Sales for the next year are # 18.50,000. You are required to
determine

(i) the break-even sales volume.

(ii) the profit at the budgeted sales volume.

(iii) the profit, if actual sales drop by 10 percent of budgeted sales.
(iv) the profit, if actual sales increase by 5 percent of budgeted sales.

(@ ‘aftfd g e & v sl & e i |
Describe the salient features relating to Value Added Tax'.

Q3. (a) uaﬂ%ﬁﬁa.ﬁl,oo,oooéﬁaﬁﬁaﬁ%m,mﬁm¢ 100 7 8 3 6%
‘ a%qt%ﬁ%a%ﬁalﬁﬁamﬁaﬁm,sﬁﬁm%ﬁﬂﬁﬁmhﬁz

HAHA R T 25
IMEE W T 34

Tom 3 AAfem A W T 35
gooooﬁaﬁ%%naﬁmmﬁgqaﬂtmﬂaﬁaﬁﬁﬂwmﬁmml
1,000 SRt W wom ofR aifm WM W Sigwt wh sEEiE W g L H
1000%«@%%@@@%%@%(%)
aﬂﬁmﬂmlmﬁésooﬁaﬁaﬁqgfuaﬁ(gﬁﬁﬁgm)%?ﬁimigo
velieh T g FRifa ( (fega) Rean |

e for. 0 5 s ) (o ) o ) ek ) st e
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ABC Lid. invited applications for 1,00,000 equity shares of T 100 each
at a discount of 6% payable as under :

On Application ¥ 25
On Allotment ¥ 34
On First and Final Call ¥ 35

The applications were received for 90,000 shares and all of these were
accepted. All payments due were received except the first and final call
on 1,000 shares, which were forfeited after doing all legal formalities.

500 shares out of them were re-issued at T 90 each as fully paid-up.
Pass entries in (i) the Cash Book and (ii} Journal Book of ABC Ltd. 20

by whR®. fa. & A, 39 5 3 31 o 2014 1 9, FiafRea #

AL T ¥ Eaked T

g 30,72,000 | ¥rR gSh 40,00,000
qaga 33,00,000| 12% fsa==x 30,00,000
WiH (1-4-2013) 7,50,000 | @my-gif4 @ 2,62,500
LG 8,70,000 | & o= 3,70,000
e 2,50,000 | Fvigrar (@9gR) 4,00,000
FHd) 3 dF 4,06,500 | feshi (forsma) 41,50,000
Ceapiln 75,000 | wma aRfify 2,50,000
S S ved 3,92,500 gﬁlﬂﬂ gm 35,000
afieafat 18,50,000
TS =g 50,000
L] 9,79,800
I Y 68,350
T 2.02,250
o W9 21,100
fed= == wem 1,80,000

1,24,67,500 1,24,67,500
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G W 15% 9 e hie

G s @ € 5,000 % R AR |

Gi) o o fedR s R | |

i) wRw sl ¥ T SRR W 5% SaE R |

(v) - 35% A I HH T HIC |

(vi) 31T, 2014 T &k T 9,50,000 91 |

(vii) mﬁaﬁqﬁ%m%%om%ﬁwaﬁmmﬁmw

Fowwt o

wegft % I o dEr R |

The following are the balances of Manchar Co. Ltd. as on 315* March,
2014 : N 5

| Debit ' T o C?edm ' T
Premises ‘ ©30,72,000 |Share Capital 40,00,000
_Plant o ~33,00,000 |12% Debentures 30,00,000
Stock (1-4-2013) - 7,50,000 | Profit anid Loss Alc . . 2,62,500
Debtors 870,000 |Bills Payable . 3,70,000
Goodwill : 2,50,000 {Creditors : 4,00,000
Cash and Bank 4,06,500 |Sales - 41,50,000
Calls in Arrear ‘ ;?5,000 Gez:leral Reserve 2,50,000
Interim Dividend paid ~ 3,92,500 'f:gndﬂ’fzgi“s"is“’“ 35,000
Purchases : 18,50,000 -

Preliminary Expenses 50,000

Wages 9,79,800

General Expenses 68,350

Salaries 2,02,250

Bad debts _ - 21,100

E;il;enture - Interest 1,80,000

‘ 1,24,67,500 | 1,24,67,500
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Q4.

(a)

(b}

(c)

Additional Information :

(i)  Depreciate Plant by 15%. : ' ' !
(ii) Write-off ¥ 5,000 from Preliminary Expenses.

(iii) Half year’s Debenture interest due.

(iv) Create 5% provision on Debtors for doubtful debts.
(v) Provide for Income Tax @ 35%.

(vi) Stock on 315 March, 2014 was T 9,50,000.

(vii) A claim of € 25,000 for workmen’s compensatmn 1s bemg disputed
by the company.

Prepare Final Accounts of the company. | - 30

mrzfamaﬁuhm(maﬁ@n) aﬂtmmﬁ‘aﬁm (ﬁﬁaaﬁf&n)%aﬁa
fasten $ifvmg |

Distinguish between Job Costing and Process Costing. - - - 20

| @ﬁ,@m'ﬁ'mw&ﬁﬁmﬂﬁﬁwrﬁﬂmaﬁ%

for s arfufiem Y srnfiss wat 1 e Bt

State the basic conditions of Income-Tax Act to determine the
residential status of an individual, a company and all other persons. 15

m%m@%wﬁ@%m%mﬁmgﬂ
3 | wAfaal 7wk Rogelt R Sif |

Prepare a note on deductions from gross total income in respect of
certain incomes and certam payments for- 1nd1v1duals . 15
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Q5. frfifiaa % I AR, s g=F @ 150 Fea] W &

Answer the following in about 150 words each :

(a)

(b

()

(d)

(e)

it e < el 1 et 2 R ) R e omaf fafr § e
T ST & 1 ST veTeReh e i |

“Internal Rate of Return Method of Capital budgeting is considered to be
superior to Payback Period Method.” — Critically evaluate. ‘

4w Y Prdfel & (@) Fraw o 3mSR (i) Fed ST JE
m%waﬂaﬁaﬁx@ﬁﬁm%aﬁawwé?
What is the relationship between leverage and cost of capital as per the

(i) net income approach and (i) net operating income approach of
theories of capital structure ? '

F51 3 S S # WA A B oA 7 | A § FehAfim % e TG
1 FUTAHTEHE JEaih IR |

Banks are permitted to enter the insurance sector. Critically evaluate
the current scenarie of Bancassurance in India.

rigien o A 5 Frfr 8, Q wEwpl T ) e e (W wE)
1 faefl m suE (SR qiEr aer) 3 (i) sty R %
Arafafs fadiom T agTa (sl R wemr) R e feorh ke |

Write 2 note on two important issues of (i) the ratio of current assets to

salé (relative asset liquidity) and (ii) the ratio of short-term financing to-

long-term financing (relative financing liquidity) in formulating working
capital policy.

ﬂw@%maﬁm%mﬁ%wﬁwaﬁﬁmé?

What is the justification for the goal of maximising the wealth of
shareholders ?
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Q6. (a) TrfifEs gom-od, 38 75 3 R, 2012 ok 2013 9 2, ¥ s AR

Same e it Frsher doft § whad Y o Fam w2 55
- EEI 20127 | 2013% |

AR ISh 2,00,000| 2,50,000

= Al 50,000 60,000

ISR 30,500 30,600

Sufafa 7@ 70,000 _

fafey gFeEr 1,50,000| 1,35,200

R =+ foru gaum 30,000 35,000

5,30,500| 5,10,800

TiEaferat 2012¥F! 2013 ¢
il i Wa 2,00,000| 1,90,000
e ‘ 1,50,000| 1,69,000
wih 1,00,000 74,000
fafay gen . 80,000 64,200
T 500 600
d% — 8,000
W (1Tsfam) — 5,000

5,30,600| 5,106,800

2013 ) T B AT 3 I S s TSR Pl 2
(i) T 23,000 %1 S 3 foman mn

Gi) W I Hh f aiEmRai 2 50,000 ¥ @@ € R agreft
It A g | wid mE afwrafei § € 20,000 @i, T 25,000 A
T 3R gAm T 5,000 6 o

Gi) &% 2 ot AEfiTd T 8,000 ® WG T |

(v) HEIB™ 92 W | el 78 il € 12,000 4t

v) &% % A gEue kA e et #R T 38,000 |

(vi) TR S e m 7 200 6 g e o @ @ sl W
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~ From the following Balance Sheets as on December, 2012 and 2013, you

are required to prepare a Statement of Funds Flow and’ Schedule of

‘ Changes in Working Capital : |

- Liabilities” 20122 | 2013
" 'Share Capital " 2,00,000| " 2,50,000
~ General Reserve " 50,000 60,000
Profit and Loss 30,500 |- 30,600

. Long Term Loan . 70,000.  —
. Sundry Creditors 1,50,000| 1,35,200
Provision for Tax 30,000| * 35,000
e 5,30,500| .5,10,800
. Assets . 2012% | . 2013%T
' Land and Building 2,00,000|" 1,90,000
 Machinery T 150,000] 1,69,000
stok T 100000] 74,000
 Sundry Debtors . , | o 80,000 64,200
Cash 500 600
e CBamk LT — | 8,000
Goodwill . B — 5,000
IR ' 5,30,500 5,10,800

. Additional mformatlon durmg the year ended 2013 is as under
. -,(i)' ' ledend of T 23 000 was paid.

(_ii) Assets of other company were purchased for T 50, 000 payable in
. shares. Assets purchased were Stock of T 20,000, Machmery
T 25, 000 and Goodwill T 5,000,

~ (iii) Machinery was further purchased for T 8,000.
(iv) Depreciation written off on machinery ¥ 12,000.
" (v} Income Tax provided during the year T 33,000.

(vi) Loss on sale of machine ¥ 200 was written off to General Reserve. 20
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(b) ﬁnﬁr@a@ﬁﬁﬁﬁm%m%ﬁmﬁmm(iﬂﬁﬁzm)
1 aftee o, freeks forg sveamn ifsr &% ) 35% 6 TR, 1) == &)
TH @ 10%, (i) Fed=r =1 sifsa gea 7 1,000, (iv) SRt - 20 ¥

(1) a&%ﬁmlo%zﬁmm%ﬁmésﬂtmﬁawﬁ(m
Ry 2% ¥

(2) aﬁ%ﬁms%%a%ma%aﬁ%aﬂtmms%%l |

zoaﬁ%ﬂ%ﬂz? 1ﬁaﬁﬁ(@sﬁ)maﬁmq\wmaﬂi?1wzoﬁ
a4 & fo Fdwm gea s e §

T 1% fw S| 9% | 10% | 11%

mﬁﬁmaﬁm@w 1-2099 & 70 | 9.120 .| 8514 | 7.963

A T T a9 : 2047 0178 | 0149 | 0124

Calculate the explicit cost of debenture for each of the . following
situations, assuming (i) tax rate of 35%, (ii) coupon rate of mterest 10%,
(iii) face value of debenture & 1 000 {iv) matunty 20 years '

(1) If debentures are sold at a premium of 10% and ﬁoatatlon costs
are 2%.

(2) If debentures are sold at a discount of 5% and’ ﬂo-até!‘.ibn costs

are 3%. _ ' 1 20
The present value factor of an annuity of ¥ 1 for 20 years and present
value factor of T 1 for the 20t year are as under : S

Forg1 - be9% o o10% [ 1%

PV factor of Annuity for years 1-20 | '9.199 | 8514 | 7.063

PV factor for the year : 20t - | o8, fo_:i,éé' 0124

'I

(©) ﬁaaaﬁtaﬁq%ﬁﬁqm%mawﬁsﬁmgﬂm(mqﬁz
{regeraton) 9w Ao @ 2

What is Corporate Restructuring with special reference to Mergers and
Acqu151t10ns'7 e | _ 10

C-DRN-N-EPBA i1



Q1.

(a)

¢ T, &1 g, S 7% 98 31-12-2013 aa“i o1, Frcaferfiga % AR R ;
-7 (31-12-2013 &)

gt T gitargfoat T
Hdt ot (7 10 7R W) 60,000 | T womd sty 1,50,000
109% St o  80,000| sTey afmfEt 50,000
et s 20,000 |
T, TATY 40,000 |
2,00,000| 2,00,000

mwwmﬂqﬁrq@ﬁﬁw(ﬁaﬂa}hﬁ) 3.0 2 | @R e

(fBR) o ard T 1,00,000 § | $oh Afer yaew @l w1 fht &

I I 40% B | AR W35% R

©  wred dd, A e ok dg dee © A e
Eﬁ‘ﬁmi ; '

(ii) aﬁ'ﬂﬁwaﬁﬁ(EPS)(m)?Sﬁ{‘(é)?ﬂﬁﬁ)@,a’rmaﬂ'{
& @ Uz AWE! (EBIT) % Gvred &R 1 Fuitn Fafs |

Rudra Ltd.’s Balance Sheet as on 31-12-2013 is as under :
Balance Sheet (As on 31-12-2013)

Liabilities T - Asgets <
f];‘g};ecra;’f;i) 60,000 | Net Fixed Assets 1,50,000
10% Long-term Loan 80,000 Cu;lrrent Assets | 50,000
Retained Earnings 20,000 :

Current Liabilities 40,000 .
2,00,000| 2,00,000

The company’s total assets turnover ratio is 3-0. Its fixed operating costs
are ¥ 1,00,000. Its variable operating costs to sales ratio is 40%. The

income tax rate is 35%. : \

(i) Calculate the Degree of operating leverage, financial leverage and
combined leverage. . -

(i) Determine the likely level of EBIT if EPS is (a) ¥ 3 and
(b) ¥ 0 (zero). L

C-DRN-N-EPBA 2

20



FL S

() A aEf wEeEa fa. W vy e o 2 20 Wiy S R | wEE i uimf
H I W (A @ aMfe Red) 12 whive 8 ot fefiewr @ 10 vk
2 | e & A ATed H T Ha gu Fefafea w1 i S
()  H % 3O oF T (3-a1132) W
(i) 39 T9 UMY W IR A Fag
Earnings per share of Shree Laxmi Textile Ltd. is ¥ 20 per share. The
company has an internal rate of return of 12 percent and the
capitalisation rate is 10 percent. Determine the following using Walter’s
Dividend Model :

(i)  Optimum payout ratio of the firm.
(i1) The price of the share at this payout.

© Refafes smeEd = wne w0 g, = R m gen-a = g hif

qea-a=
et 3fR Zaard T yfegrafal T
St it 2,00,000 | 57 3t I ?
yfeiE el 3,00,000 | wrerEEt ?
TR (FER) IR W fem 7 | ¥WER ?
| That ?
Fd K&
Fg TR :

Gy o Fu oM Fraw Wi (Fwaft) #1 S79E (045 : 10
(i) T eERE | gEEd 2

(iii) THA AR (ATH) TR : 30%

(v) ftEq duew safy (360 &7 wfd ad w anuifa) : 40 A

(v T quEEd (SR Y ATE i @ o g % Hd R A 9«
YMA) : 3 IR

(vi) TRt AU (A TR ) 1 0-75: 10
C-DRN-N-EPBA | 13



Q8.

(a)

(b)

(c)

Using the following information, complete the Balance Sheet given
below :

Balance Sheet
~ Capital and Liabilities T Assets T
Equity Capital | 2,00,000 | Plant and Equipments ?
Retained Earnings 3,00,000 | Inventory ?
Creditors and Bills Payable ? Debtors ?
Cash ?
Total ' Total .

Other Information :

(1) Total debt to Net worth Ratiois: 0-5: 10

(11) Turnover on Total Assets : 2

(iii) Gross Profit margin : 30%

(iv) Average Collection Period (based on 360 days year) : 40 Days

(v} Inventory Turnover (based on cost of goods sold and year end
inventory) : 3 times

(vi) Acid Test Ratio : 0-75 : 1-0 ' 20

@) &1 TR 3 (i) I AR W (SEgHen) & Hey ¥ wafw o fidaw
SR AEIRA FT AT AT HedTh hifg |

Critically evaluate the functioning of primary and secondary markets in
relation to (i) money market and (ii) capital market instruments. 20

Sfam G (e Bfieer) wees R @ fr SR R § 7 e &

faftri < foftm yerr w0 € 2

How is venture capital different from traditional financing ? What are
the different types of venture capital funds ? 10

ot S e 3fem ot () Suht Wfgw Hifr o i) Swh sum At =
HHTAEATcHh Yodich <RI |

Critically evaluate Reserve Bank of India and (i) its monetary policy and
(ii) its credit policy. , 20
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